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(6.1 - 6.2 Extra Practice)

1:] Ar} airplane is flying bearing 148°, with an air speed of 875 kph. Because of the wind, its ground speed and
direction are 800 kph and bearing 140°, respectively. Find the direction and speed of the wind.

lanc B7< Iph a4+ -58° L 87S (s -€8 | 875 5in 2597 C SesS, /2927
Grosnd® OO kph at -5T e ekl gy 2 W= 138 kpb
(61-62Quiz) ¢6-637 2131 0 oS0, Buo smWOY 61 beariay 2137

2.) The magnitude and directiorexerted by two tugboats towing a ship are 4200 lbs, N65°E, and 3000
Ibs, S58°E, respectively. Find the magnitude and the direction angle of the resultant force.
Round to the nearest pound and tenth of a degree.

CHAL (AT A Foee
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3.) Hannah is playing a game on the boardwalk. If she can toss a Ping-Pong ball into a fish bowl, she wins
the fish! Hanna is 20 feet from the center of the bowl and releases the ball 4 feet above the bowl. The fish
bowl has a radius of 18 inches. (Yes this is a large fish bowl). Hannah throws the ball with an initial
velocity of 25ft/sec at a 55° angle. Will Hannah win the fish?

32, Y200 527 4 Bss S 327

G=) b7

G a.) Write a set of parametric equations for the path of the Ping-Pong.
XY = &S (o8 5ST

Y = AJoT* + W52 SST +7 s hefeen  center

OF howl and end

b.) Will Hannah win the fish? Justi ur answer algebraically!
! 4
206 =2 (usST ALS = 25w sYT of  bord - heght §o
T=1.39 sec T= | 491secc Purn T+ Ao — /
(Quiz63)J = /43F = =kl £ bdoch  means  lands 1n benl,

4.) The center field fence in Yankee Stadium is 7 feet high and 408 feet from home plate. A baseball is hit
3 feet above the ground. It leaves the bat at an angle of 26° with the horizontal at a speed of 90 mph.

' q\Orv\\‘ls the 'p\ . gl:u =
a) Write a set of parametric equations for the path of the baseball. S = ?; ==
= )2 ey 2T

= —'\\ﬂ—\_z 4\32. Slna\aT % g
b) At what time does the ball reach a horizontal distance of 408 feet? (Show algebraic work).
Yoo = /32 catlT

T = 3. 438 secuads

¢) What is the vertical height of the ball when the horizontal distance is 408 ft?
@ (Show algebraic work). j ( 3 .-_’35%.) - o (Am) 4 132 s ,a(m“l) 3

d) Is the hita homerun? =}2A.7 feek
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AQuiz 6.4-6.5)
'5.) Classify the polar graph, identify any symmetry a

P Dlar Curve Type Symmetry Max r-value point
o
|
|
!
|
|
|
I
!
%
|
|
|
|
|

nd the location of the maximum r-value.

a.r=-3cos@ C\ff-\t.__ Y -60¥S /f)), TT)

. 31
b.r=4-3sin6 D\mp\t Lw\c\cbr\ \A 0% (71 /‘1") ]
c. r’=25sin26 Leﬂ"--ﬁsiu!—c. Rl e (51 %r -+ n’h) |

6.) Write an equation for a Dimpled Limacon with a max r value at (-8,0) and y-ints at (0, -5) & (0, 5).

- 5--" %(u\g

(Chapter 6 Test)
7.) Convert the rectangular equation to a polar equation: (x - 3 +y' =9

X‘ldby’t‘q +j'l-: q
r -l =0
(- L B)=0

8.) Convert the polar equation to a rectangular equatio
o 25-0wtD =6

o risin20 =6

.Qr“aw\@(‘-u\‘a =
(g\r\B FCUSB = 3

yntz

(7.4 Partial Fraction Decomposition)
9.) Find the partial fraction decomposition of the following rational functions.

2) x+17 ) 3x* +6x-1
7 2x7+5x-3 Y +axt +4)
A L L At (et
. 3 e
A~ xt3 o & =2y
g ; Ax+Bx* 4 PAX +2RcCX A
| YX ) 67 Az> s, -
3 ”_ B':'D /_’—-x—- “ ./'-
124—.2 CX,L*—)'
5 - 2A 1231 =0
2 — + —-—*—"3 C-o
0'27("’ At D‘_.’
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(chapter 7 Test)
10.) Lenhard Manufacturing has two factories that produce three grades of paper: low grade, medium
/' grade, and high grade. It needs to supply 24 tons of low grade, 6 tons of medium grade, and 30 tons of
@high grade. Factory A produces 8 tons of low grade, 1 ton of medium grade, and 2 tons of high grade
#“paper daily and costs $2000 a day to operate. Factory B produces 2 tons of low grade, 1 ton of medium

grade, 8 tons of high grade paper daily and costs $4000 a day to operate. How many days should each
factory operate to fill the orders at minimum cost? *Be sure to state all constraints. Find the cost values at

each vertex and identify your final answer. C Ui
= Qeoor TS

qufgj z Y
yr% 2 (o (2,4) = Quoso 35!4{15 cach .
.y 230 —,).;),—]Xc.»cc»
AX + (-l
JD 20 (1519) =3000¢
((0;1x) = 48000

(8.1 - 8.3 Quiz)
Find the standard form of the equation. Classify and graph the conic. Be sure to identify key points.

13) 9x* - y*

6?9 "1*)

12) y* +10y +4x+41=0 -36x-6y+18=0

(45)’= -4(x)

11.) 16x* +9y°

Classify: g///PS e

—128x+54y +193=0

@*Qi
7 ! =/

Classify: /'/*jﬂ evbela

Classify: pd kool a

Center: ( Y j = 3) Vertex: (—Lf - 5’) Center: ( Q- 3)
Vertices: ( ‘f, ,) (.__I’ | ) Axis of Symmetry: [’ =9 E::{;;’;l;sse AXiS@/ ,-g) ( I, _g)
, v Conjugate Axi
Co-Vertices: (7’ -3) ('\ ,3) Focus: (- <,-s ) E(r)lglx;logiarllt(:: 15(:‘) : 0) (Q - tp)
RUEL ((‘/ ; — g G‘ ) Directrix: X = -3 Asymptotes: 7~ _‘3%’; '--3‘?
‘{ Y
|
¢ 7 \\ » < : N < \ N ¥ R
/ /
@ Nt ' 4
v J ‘ v v
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},’"73.1 - 8.3 Applications WS)

14)Will a truck that is 14 feet wide carrying a load that reaches / "Kﬁ\

g feet above the ground clear the semielliptical arch on the A l |

one-way road that passes under the bridge shown in the figure? s o ﬁ) ﬁ' ~~-
3 l ‘ ‘ T - ""“

.‘-\ !
i\ '

15.) A semielliptic archway has a height of 20 feet and a width of 50 feet, as shown in the figure. Can a
truck 14 feet high and 10 feet wide drive under the archway without going into the other lane?

— S0ft

(8.1 - 8.3 Applications Notes)

16.) A comet following a hyperbolic path about the Sun has a perihelion distance of 90 Gm. When the line
from the comet to the Sun is perpendicular to the focal axis of the orbit, the comet is 281.25 Gm from the

Sun. Calculate a, b, ¢, and e. What are the coordinates of the center of the Sun if we coordinatize space so
2 2

that the hyperbola is given by x_z - y_z =17 C-~a = Jo
2 3 = b (’ 79, O) f 2
@ ‘fb =C sun s 1 = ,_;?LQ/. 2-5’

@ Q5+ 28/ 254 :/(.t"'?g)b Focus

. 2 , o S = D8l 2Sa
A+ 28,250 7 A+ (Ea +d/00

5
)/ /70 P
—— =/—0\ - = ™~ G0
(8.4 Notes) @ 6_5/ c =/70 &

17.) Rotate the axes to eliminate the xy-term in the equation. Then write the equation in standard form.
Sketch the graph showing both axes.

o fee .
2x? —3xy -2y +10=0 ool 20 = = = gi
ﬂ::;Z _ :
4=-3 Cuf:?@‘_m___fe—i -1
,,2»..)6’ 3
¢ =t
(3cott -1) (010 *3)
cf6=% (16773
B
e fe it - A
o A (’“ 33) ()c)

G) )
Op-Z(ey) > ¥ 7
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8.4 Notes)
18.) Use the discriminant to classify the graph.

¥
J

[ 12X -6xy+ Ty —45=0
y'a) Y y

b) x* —6xy -5y +4x-22=0

c.) 36x° —60xy +25y* +9y =0

—00 Sk O
.
€ c P\C HJ'I” chola Pn ra bl a
(8.5 HW Quiz)

19.) Find a polar equation for the hyperbola with a focus at the pole and the given polar coordinates as

the endpoints of its transverse axis: (-3, 0) and (1.5, 7).

_ R.ac
C (’Q-lf,ﬁ) € " g =5
/), Ce=a=s 5 ez2)
" LI _3-
5 ; (.3__"3L
28k )

11

20.) Sketch the conic, and find the values ofe,a,b,andc: r =

6-5sin8’

- "o TT/
@(" l__:__.:,——/;:g (” 4 z.) C(O,S)

(Chapter 9 Quest)
Find the following:

(0

a.) Identify whether the sequence is arithmetic, geometric, or neither.
b.) If arithmetic or geometric, identify the common difference or common ratio.
c.) If arithmetic or geometric, write a recursive rule.

d.) Write an explicit rule.
e.) Find q,,.

21)£12, 15,18, 21,24, ... (ridhmetic
d=3
A, = Q- +3
ﬂ = qfsn
Q, =42
23)5,11,21,35,53,.. Newher [Quidiche

0(\’ Qﬂ1+3
(, = 345

-3 -3-3
22- _33_9_5__9---
)73 gggr Nevher

Q.= - 5/'11
O w o - 3/”—|
24)3,-12,48,-192,768, ... Gemetnc
dn= Q,., *CD o= -1
Qo * 3CH)™ Qp = 314572 %
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/15) Evaluate the expression by hand (using the formula - show all work): 1>
l o \ 11

y - = o [BLE -
0 'y - |
26.) Find the coefficient of x*y? term in the expansion of (3x - 2y)’.

( ?:)(? x')sf"l/)z = 027 x(1y)

3

T ————

6

27.) Fully expand and simplify the binomial: (x +2y)

§ A
le + 695(;/27) +’§)‘H(27)2+ Zlez(Zy)jf IS}( 2(2y)‘1 * é)‘ (2)’) + /Z)V)

C" +lax Sy + bOxy"+ JbOx y

2L ovox” y“’ + 192 xyg ¥ (9V),E\\

28.) Find the sum of the first 75 terms for the series: 4 +11+18+25+...

0 o 75 (4 +522) Q.= Tn-3
= Qs =222
S,e = 19772AS
29.) For the given series, 117+ 110+ 103 +..., find which term gives the sum of 975.
G1s = n(117+124Tn) qurtd3ae Qg = 124 -Tn
8 I S
iG50 = 24ln - In” <"n=,3“ B

2
Tn"-24lA +1G9S0=0
30.) Find “n” if you know that S, =147620in the series 5+15+45+135+...

juTbzo = 5 (1-3% —295240= 5(1-3")
\=3 — 59043 =1-3%7
(0 5G4 = -3"
luﬂ.3 Sqo4gsn

@31.) Find: i(5n2+12n)
(7 +q+&1 1128 1187+ 252 4327 + Vb

G_lsz
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23 perivatives WS)

" . 2 . .

":_-}Hlﬂd (a) the slope of the graph at the given point, (b) the equation of the tangent line to the graph at
e point (c) graph tangent line with the graph of the function.

) =2x =Sx+1;x=2
9/ ' i 2(x+H % SCxrn) +] = (2% =5x 1)
\* ./ h-o h
. i~ Yxtdh-5 (ﬂ, ")
h~ 0
£ i)Ym=
frix)=3
(10.1 - 10.3 Review)
33.) Find each limit.
a) lim f(x)= 3 :
b) lim /(x)= | //
c) li_l];lf(x)= DHE l/ [
- of 1 2 3

d) f(D)= |
(10.2 Notes)
34.) Find the limit using the definition:

a) f(x)=x*-2x
b) f(x)=+v2x-1

&) S =
@ F'(x) 2 Ax-d
e
@ p ’(x): J e

1
Q ’()L (S_%)z
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